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Directions: (Adjectives) 
Read the following sentences and find where, there is 
any error in any part, then conclude the correct 
answer: 
 
1) (a) He is the most /(b) intelligent and also /(c) the 
very talented student of the college. /(d) No error 
a) He is the most 
b) intelligent and also 
c) the very talented student of the college 
d) No error 
 
2) Now-a-days (a)/the weather (b)/is getting more cold 
(c)/and colder. (d) 
a) Now-a-days 
b) the weather 
c) is getting more cold 
d) and colder. 
 
3) I told her (a)/that it would be all (b)/the more better 
(c)/if she herself talked to the groom. (d) 
a) I told her 
b) that it would be all 
c) the more better 
d) if she herself talked to the groom. 
 
4) (a) While giving a loan/(b) you must check /(c) if the 
borrower has sufficiently collateral to repay it. /(d) No 
error 
a) While giving a loan 
b) you must check 
c) if the borrower has sufficiently collateral to repay it. 
d) No error 
 
5)  (a)  Of  the  two  great  cities/(b)  the  former  is  /(c) 
biggest. /(d) No error 
a) Of the two great cities 
b) the former is 
c) biggest. 
d) No error 
 

6) (a) Gopal felt happily /(b) to learn that I /(c) had got 
a job in the Bank./(d) No error 
a) Gopal felt happily 
b) to learn that I 
c) had got a job in the Bank 
d) No error 
 
7)  (a)  To  me  it  appears  that/(b)  Anthropology  is  the 
more interesting/(c) of all the subjects./(d) No error. 
a) To me it appears that 
b) Anthropology is the more interesting 
c) of all the subjects 
d) No error 
 
8) (a) Her black long /(b) hair adds /(c) glamour to her 
looks. (d) No error 
a) Her black long 
b) hair adds 
c) glamour to her looks. 
d) No error 
 
9) (a) Whole the chapter /(b) is full of printing errors 
which are the outcome /(c) of the proof reader’s 
carelessness. (d) No error 
a) Whole the chapter 
b) is full of printing errors which are the outcome 
c) of the proof reader’s carelessness. 
d) No error 
10) (a) I am sure that /(b) all my monthly expenses /(c) 
would exceed the income if I do not economise. /(d) No 
error. 
a) I am sure that 
b) all my monthly expenses 
c) would exceed the income if I do not economise. 
d) No error 
 
11) (a) He offered /(b) me a /(c) steamed cup of tea /(d) 
no error. 
a) He offered 
b) me a 
c) steamed cup of tea 
d) No error 
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Explanation : If there is MOMOS then STEAMED 
MOMOS is OK. 
But Steamed Cup Of Tea is NOT CORRECT 
So, STEAMING CUP OF TEA 
 
12) Ramesh is smarter (a)/enough to get (b)/selected 
for this (c)/post, without any recommendations. (d) 
a) Ramesh is smarter 
b) enough to get 
c) selected for this 
d) post, without any recommendations. 
 
13) (a) This young lady is /(b) more beautiful but not so 
cultured /(c) as her sister. (d) No error 
a) This young lady is 
b) more beautiful but not so cultured 
c) as her sister. 
d) No error 
 
 
 
14) (a) Ramayana is more /(b) sacred than /(c) all the 
mythologies of Hindus /(d) no error. 
a) Ramayana is more 
b) sacred than 
c) all the mythologies of Hindus 
d) No error 
 
15)  (a)  I  saw  /(b)  an  anxious  pale  girl  /(c)  who  was 
fidgeting near the ICU /(d) No error 
a) I saw 
b) an anxious pale girl 
c) who was fidgetting near the ICU 
d) No error 
 
16) (a) He does not have /(b) some money to buy a new 
machine so he is /(c) anxious /(d) No error 
a) He does not have 
b) some money to buy a new machine so he is 
c) anxious 
d) No error 
 

17) (a) There is not many traffic /(b) along the street 
/(c) where I live. /(d) No error 
a) There is not many traffic 
b) along the street 
c) where I live 
d) No error 
 
18) He said, “Priyanka (a)/is the most unique (b) /singer 
of (c)/our college. (d)” 
a) He said, “Priyanka 
b) is the most unique 
c) singer of 
d) our college 
 
 
19)  (a)  Of  the  billions  of  stars  in  the  galaxy,  (b)  how 
much are /(c) suitable for life? /(d) No error 
a) Of the billions of stars in the galaxy, 
b) how much are 
c) suitable for life? 
d) No error 
 
20)  (a) Everybody  knows  /(b)  that  Radha  is  the  most 
unique /(c) singer of this college /(d) No error 
a) Everybody knows 
b) that Radha is the most unique 
c) singer of this college 
d) No error 
 
21)  All  the  books  (a)/were  indeed  interesting  (b)/but 
that one was (c)/the more interesting. (d) 
a) All the books 
b) were indeed interesting 
c) but that one was 
d) the more interesting 
 
22) (a) The circulation of The Statesman/(b) is greater 
than/(c) that of any newspaper/(d) No error. 
a) The circulation of The Statesman 
b) is greater than 
c) that of any newspaper 
d) No error 
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23)  Kolkata  is  further  (a)/from  Alwar  (b)/than  Jaipur 
(c)/the capital of Rajasthan. (d) 
a) Kolkata is further 
b) from Alwar 
c) than Jaipur 
d) the capital of Rajasthan. 
 
24)  (a)  A  non  banking  financial  company  is  a  /(b) 
financial institution similarly to a bank /(c) but it cannot 
issue cheque books to customers. /(d) No error 
a) A non banking financial company is a 
b) financial institution similarly to a bank 
c) but it cannot issue cheque books to customers. 
d) No error 
 
25)  (a)  In  the  garden/(b)  were  the  more  beautiful 
flowers/(c) and silver bells./(d) No error. 
a) In the garden 
b) were the more beautiful flowers 
c) and silver bells 
d) No error 
 
26) (a) As a dramatist /(b) Shaw is superior than /(c) any 
other twentieth century writer. /(d) No error 
a) As a dramatist 
b) Shaw is superior than 
c) any other twentieth century writer. 
d) No error 
 
27)  (a)  Anurag  is  eclipsed  by  his  wife,  /(b)  who  is 
cleverer and /(c) amusing than he is. /(d) No error 
a) Anurag is eclipsed by his wife, 
b) who is cleverer and 
c) amusing than he is 
d) No error 
 
28) (a) My all /(b) friends will come /(c) tomorrow to 
meet me /(d) no error. 
a) My all 
b) friends will come 
c) tomorrow to meet me 

d) No error 
29) (a) This photograph /(b) was comparatively better 
/(c) than that which he had kept in his purse. /(d) No 
error 
a) This photograph 
b) was comparatively better 
c) than that which he had kept in his purse 
d) No error 
 
30) (a) Lasers are /(b) indispensable tools /(c) for the 
delicate eyes surgery. /(d) No error 
a) Lasers are 
b) indispensable tools 
c) for the delicate eyes surgery 
d) No error 
 
31)  (a) This book is /(b) undoubtedly preferable than 
/(c) that and its printing /(d) is also comparatively good. 
(e) No error 
a) This book is 
b) undoubtedly preferable than 
c) that and its printing 
d) is also comparatively good. 
e) No error 
 
32) This shirt is (a)/comparatively better (b)/than that 
(c)/we saw in corner shop yesterday. (d) 
a) This shirt is 
b) comparatively better 
c) than that 
d) we saw in corner shop yesterday 
 
33) (a) Two lakh of people /(b) attended the meeting 
/(c) held in parade ground. /(d) No error 
a) Two lakh of people 
b) attended the meeting 
c) held in parade ground 
d) No error 
 
34) Can we rely (a)/on this agency (b)/for the last news 
(c)/of the day. (d) 
a) Can we rely 
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b) on this agency 
c) for the last news 
d) of the day 
 
35)  (a)  In  his old  age,/(b) a  person  is  likely  to  get/(c) 
more weak day by day./(d) No error 
a) In his old age, 
b) a person is likely to get 
c) more weak day by day. 
d) No error 
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